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2 | 6,906 163 16 19 533 711 3,294 123 169 117 1 1,913
MAMH | 11,503 229 13 18 890 2,173 5,409 154 268 277 42 2,259
f# % H| 6,238 112 16 10 586 795 3,022 85 160 109 6 1,449
% B di| 5,300 140 7 15 437 666 2,629 75 56 96 7 1,312
& % | 4,532 95 2 7 308 1,117 2,005 59 56 85 18 875
F ¥ | 3,544 114 10 11 274 574 1,663 46 33 62 15 856
5 BE | 5,389 100 16 9 676 1,090 2,125 36 69 107 4 1,257
% o M 1,636 52 - 10 129 241 749 16 37 41 6 407
BB i 2,177 68 24 14 150 172 1,119 32 15 65 6 580
& 1L 1,440 52 7 2 152 189 655 18 8 43 5 361
& B 1,424 — 7 2 62 181 611 13 7 71 7 463
He B 1,561 82 18 11 128 124 796 20 7 40 7 410
£ B AT 535 17 3 3 94 108 186 3 5 23 3 107
E B A 342 14 4 3 46 31 118 2 17 10 1 110
EN=LUED 97 7 2 — 21 20 18 1 — 2 1 32
b & B] 654 27 7 2 108 101 259 5 — 18 9 145
8 # H] 271 10 — — 35 40 126 1 1 T 2 55
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A H] 208 12 — — 6 49 87 1 2 8 2 53
B E AT 393 16 — 4 64 59 149 1 1 14 1 100
7K B H] 1,107 30 16 22 141 126 409 7 14 32 4 336
#5 BT 426 11 — — 43 77 178 3 23 15 2 85
g 5 A 172 9 — - 20 41 65 1 — 5 3 37
Il # BT 450 13 — — 43 137 151 5 1 11 1 101
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= AT 417 17 — 1 37 60 154 2 18 13 3 129
= B T 355 15 - 2 51 38 149 1 [ 5 1 107
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& B A 460 23 — 1 78 52 179 2 4 17 — 127
ER R 729 33 3 - 93 105 329 2 — 29 2 166
= Z 308 14 4 — 41 26 136 — — 7 ] 93
B i ET 319 21 — — 21 88 115 3 — 4 — 88
R & HT 428 29 3 2 31 49 195 - 12 — 136
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far 1L BT 386 20 10 7 91 85 99 2 - 5 2 85
B ER 149 10 — 10 34 16 49 1 — 8 ] 30
K1 A 283 11 ] 2 59 28 96 3 — 11 1 82
#F 1L AT 416 21 2 - 65 62 148 5 4 18 -3 109
BB HT 355 15 1 — 34 35 159 3 1 12 2 108
* F HJ 432 17 5 — 35 45 231 2 1 12 2 99
& OE H] 735 26 28 - 59 57 350 5 4 19 2 211
FT R OET 753 38 12 1 4] 63 387 9 3 35 4 198
B &5 ET 465 28 5 — 60 49 - 187 2 3 17 2 140
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